IB Math HL2:  Exit Slip #2   




Name _______________________

I:  Planes and lines

1. Show that the line ; 
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, lies on the plane  
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2. Find the real number k, such that the planes 
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a)  Parallel.

b)  Perpendicular

3. Find the angle that the line passing through the points A (3, 4, 1) and B (1, 5, 3) makes with the plane 
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4. Find the equation of plane which passes through A (5, 2, -1) and B (1, 0, 4) and is perpendicular to the  plane 
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5. Find the angle enclosed by the line l:  
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and line 2: 
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6. Find the angle between the line equation 
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 and the plnae 
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7. Given 
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a)  Show the two lines are parallel

b)  Hence, find the distance between these two lines.

8. Find the distance from the point (2, 3, -1) to the plane 
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9. Find the foot of the perpendicular dropped from P (5, -3, 4) to the plane 
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10.  Find the shortest distance between two planes:  
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